Lesson 29 Exercise 1

l. Using the third principal part, conjugate each of the verbs in the Aorist,
Indicative, Active (or Passive, if required), including the infinitive:

TiONuL, Bnow, £€0nka put, make

dyw, a€w, nyayov lead, bring, pass (time)

gpyopal, EéAedoopal, NABov (stem £AB-) come, go

duvapat, duvricopal, €duvrdnv be able, can
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Lesson 29 Exercise 2

Consult the master verb list and write out the tendency of the third principal part for the
following groups of verbs:

1. Stems in -6/(/6

2. Contract Verbs: -aw

3. Stems in -y, -K, -X, and -1t

4. Thematic Aorists

What do the 1st Principal Parts tend to have in common?

5. Contract Verbs: -6w

6. Stems in -1/p/

7. Stemsin -AMv/p
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Lesson 29 Exercise 3

1). Provide the first three principal parts,

2). Provide the appropriate aorist infinitive; and

3). Change from the aorist tense to the present and imperfect tenses, in the same
person(s) and number(s).

For any verbs with a middle first principal part (e.g. £oxouai), do not give the imperfect tense.

e.g.: Edwke: Sidwul, dwow, Edwka; dolval; Odidwoatl; €6idou

1. €uvnoav

2. €otnuev

3. Nke

4. AABov

5. &PBouAndnte

6. €iheq

7. €maBe

8. £6ooav

9. nvéykopev

10.€otnoa
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